QUESTIONS & ANSWERS

Kill your exam at first Attempt

Hitachi

HHO-200

Certified Modular Integration Specialist

Download Full Version : https://killexams.com/pass4sure/exam-detail/HHO-200


http://killexams.com/pass4sure/exam-detail/HH0-200

QUESTION: 99

By default what are two IP addresses of Hitachi Thunder 9500V?Series subsystem
maintenance ports if the user ports are set to IP addresses, 10.0.0.5 and 10.0.0.6,
and the subnet mask is set to 255.0.0.0? (Choose two.)

192.10.0.16
192.10.0.17
192.168.0.16
192.168.0.17
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Answer: C, D

QUESTION: 100
What is the correct formula for calculating Queue Depth on a Hitachi Thunder
9500V ?Series subsystem?

A. Queue depth = 256 / No. of ports

B. Queue depth =256 / No. of LUNS per port

C. Queue depth = 256 / No. of LUNSs per Host Group

D. Queue depth = 256 / No. of Host Groups x No. of ports

Answer: B

QUESTION: 101
Which two statements are true about the separation of LUs from a Unified LUN
on a Hitachi Thunder 9500V ?Series subsystem? (Choose two.)

You can separate any LU from the Unified LUN.

You can separate all the LUs from the Unified LUN.

You can separate the last LU from the Unified LUN.

You can separate all LUNs except two from the Unified LUN.
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Answer: B, C

QUESTION: 102
A customer needs 2 RKs and 5 RKAs installed in a Hitachi Data Systems?9?rack.
What is the total EIA and how many railkits does the customer need?

21U and 7 railkits
26U and 8 railkits
26U and 7 railkits
29.5U and 8 railkits
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http:192.168.0.17
http:192.168.0.16
http:192.10.0.17
http:192.10.0.16

Answer: A

QUESTION: 103
What is the operational temperature range requirement for a site when installing a
Hitachi Thunder 9500V ?Series subsystem?

510 20 5? to 20?

10 to 40 10? to 40?
15 to 55 157? to 55?
25 to 50 257 to 507
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Answer: B

QUESTION: 104
You notice in Hitachi?Resource Manager that one of the LUNs on a RAID group
is colored pink. What could be the cause of this problem?

There is a P-VOL failure.

There is a S-VOL failure.

The LUN is under regression.
The command device has failed.
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Answer: C

QUESTION: 105
Which two statements are true about installing Microprogram through Web
Access on a Hitachi Thunder 9570V ?subsystem? (Choose two.)

A. You can downgrade the version of Microprogram on the subsystem.

B. Microprogram installation is non-disruptive when done using Web Access.

C. You can choose the controller on which the Microprogram needs to be
updated.

D. You need to press the Soft Reset button on both the controllers of the
subsystem.

E.  Microprogram installation can be performed during host access to the
subsystem.

Answer: A, D

QUESTION: 106
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You have submitted a command using CLI for formatting four LUNSs. You need to
check on the status of the format. Which command should you use to check the
status?

auformatst
auformatref
auformatchk
auformatrep
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Answer: A

QUESTION: 107
You need the performance information of a Hitachi Thunder 9570V?Series
subsystem named df600remote, while a benchmark application is being executed.
Emphasis is on read and write commands being received. What Hitachi?Resource
Manager CLI command should be executed if the statistics need to be collected
every 20 minutes?

A. auperform nit df600remote uto 20 auperform ?nit df600remote ?uto 20
B. auperform nit df600remote uto 1200 auperform ?nit df600remote ?uto 1200

C. auperform nit df600remote uto 20 r auperform ?nit df600remote ?uto 20 ?r ?

D. auperform nit df600remote uto 1200 r auperform ?nit df600remote ?uto 1200
r?

Answer: A

QUESTION: 108
Which two statements are true about acquiring performance information on a
Hitachi Thunder 9500V ?Series subsystem? (Choose two.)

It can be collected through Resource Manager only.
The name of the output file is of the format perfxx.dat.
The name of the output file is of the format pfmsxx.txt.
It can be collected through Resource Manager and CLI.
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Answer: C, D

QUESTION: 109

You are installing a floor model of Hitachi Thunder 9570V?subsystem set up as

RK+H1H Deskside kit, at a customer site. You have identified a location with

power outlets and good ventilation, conforming to the shock and vibration

requirements. What fulfills the maintenance clearance requirements of the
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subsystem?

150cm x 20cm (58.5in. x 7.8in.)
170cm x 25cm (66.3in. x 9.8in.)
200cm x 30cm (78in. x 11.7in.)
250cm x 25cm (97.5in. x 9.8in.)
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Answer: C
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